
1

2 3 5 6 7 8 9

4

11

12

13

14

1510

1) Rear Pannier Rack x 1
2) Forward mounting bars x 2 
3) Forward mounting bar clamp x 2
4) Forward mounting bar plastic end caps x 2
5) Forward mounting bar bolts x 2
6) M4 40mm Allen socket cap bolt x 2 
 (for adjustable Side mounting bar to frame)
7) M5 20mm Allen socket cap bolt x 2 
 (for adjustable Side mounting bar to Rear Pannier Rack)
8) M5 16mm Allen socket cap bolt x 2 
 (for forward mounting to top Rear Pannier Rack)
9) M4 12mm Allen socket cap bolt x 2 
 (for forward mounting bars to front frame)
10) Adjustable Side mounting bars x 2
11) Pannier Bag hooks x 2
12) M5 locking nut x 4
13) M4 locking nut x 2
14) M4 washer x 4
15) M5 washer x 4

Parts List

Assembly Guide

pedibal.com
@pedibal
@pedibal

@pedibalbikes



Assembly Guide

1 2

Remove Rear Reflector from frame mount (retain screw) Re-attach Rear Reflector to the dedicated mounting plate 
o the Rear Pannier Rack.

3 4

Attach Adjustable side mounting bars to the Rear Pannier 
Rack using the parts 10,7,12,11,14) leaving the single hole for 
mounting to the bike frame.

Assemble the forward mounting bar using parts 
2,3,4,5,12,15 tighten nut loosely until pannier assembly 
complete. 

Attache forward mounting bars to Rear Pannier Rack using 
parts 8,15.

 Remove the M4 34mm Allen socket cap bolt x2

5 6

7 8

Attach side mounting bars with parts 6,14 the rear lower 
frame (chain stay)

Attache the front mounting bar(s) to the frame using parts 
9,14 (seat stay) & Now Rear Pannier Rack is fitted tighten all 
the nuts to complete assembly.


